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It is different there; for there is an additional row

OVERVIEW

The X713 inferred from our 71wn that a wall requires a width of five 219Y to
support a height of four mnX. However a width of six 2’19Y can support even a
height of thirty mnX, as witnessed by the "0 7K. MDOIN suggests that there may
a different explanation' how a wall of thirty mnx high was supported by a width of
(only) six onov.
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The X713 could have answered this apparent anomaly; for on account of the
weight of the ceiling and the plaster, which rested and weighed down on the wall,
therefore it supports much more than four m»X high for each five o°nov wide, as
the X773 shortly states.

SUMMARY

A wall can support a greater proportional height (than four mnX for each five amov
width) provided it is not a free standing wall; but is braced by the weight of a
roof/ceiling bearing down on it.

THINKING IT OVER
Can a wall of five o°nov wide, with a 72°7¥»1 77pP0 on it, support a height of thirty
nnR?

! moon perhaps finds it difficult that the addition of only one more X width (a 20% increase), can support an
additional twenty six N1aX of height (a 650% increase)!
2 See 'a Tmy. See 'oIn there, K 11"7, which seems to contradict our M»iN.
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